IES MURILLO , MathS 10 ESO
GLOBAL 2% EVALUACION

Name:

1) Work out and simplify: 2) Work out and simplify:

9 2 (1 lj (3 1] (2 3)
Z—— | =+ = o x| =-=|=
10 5 (2 6 5 2)\3 2

3) Complete:
] % of 80is 20 10% of 175 is ||
L] % of 175 is 21 32% of || is 200

4) Ashley bought 7/8 of a kilo of cookies and ate one quarter of a kilo. How much
was left?

5) Express in metres:
a) 27.46 dam + 436.9 dm
b) 0.85 hm + 9.2 dam + 4600 cm

6) Solve and check:
(bx-1)-(2x+5)=2x-3

7) Solve and check:
32x-1)-5(3x-2)=7

8) In a box there are five dozens of chocolates. 20% of them are dark chocolate.
How many chocolates are not dark chocolate?

9) Four cooks are preparing a banquet. Together they will finish in three hours. In
how many hours will one cook finish? And six cooks?

10) Four times a number plus seven is equal to six times a humber minus seven.
What is the number?
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SOLUTION
1)2_2{1+1j 9_3_[3_+1j 9. 2.4 9 12 9 6_3
10 526) 10506 ) 105 6 10 20 10 10 10

2)[§+1J (g_% 6+5 4-9 11 -5 -55_ 11

5 2)1372)"10 6 10 6 60 12

3) Complefte:

] % of 80is 20 10% of 175 is ||

x 20 2000 10 «x 1750
XY =Y 2 =~ _ X 29X

100 80 X" 80 ~2° 100 175 X" 100 P
L] %of 175is 21 32% of || is 200

x _21 . _2100_,, 32 _200  _200x100 ..
100 175 - 175 100  «x - 32

4) Ashley bought 7/8 of a kilo of cookies and ate one quarter of a kilo. How much

was left? Z—l— 7-2 =§ of a kilo was left

8 4 8 8
5) Express in metres:
c) 2746 dam + 436.9dm =2746 m+43.69 m = 31829 m
d) 0.85hm+9.2dam+4600cm=85m+92m+46 m=223m

6) (bx—1)—(2x+5)=2x-3 > b6x-1-2x-5=2x-3 - b6x-2x-2x=-3+5+1

3
2x =3 i
X=3-x=3

g [6-3-1)-(2.345)22.3 3,18 4} (6,5]_6_
Checking: (62 1) [2 2+5j_22 35 (2 1) (2+5j_2 3

9-1)-(3+5)=3-3-8-8=0-0=0

7) 32x-1)-5(3x-2)=7 - 6x-3-15x+10=7 - -9x=7-10+3
-Ix=0->x=0

Checking: 3(2-0-1)-5(3-0-2)=7 - 3-(-1)-5:(-2)=7 > -3+10=7
8) In a box there are five dozens of chocolates. 20% of them are dark chocolate.

How many chocolates are not dark chocolate?
5x12 =60 — 80% of them are NOT dark chocolate
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80% of 60 = 29x60

100 =48 chocolates are not dark chocolate

9) Four cooks are preparing a banquet. Together they will finish in three hours. In
how many hours will one cook finish? And six cooks?
INVERSE

4 cooks ———-3 hours

1cook ————— X hours

4 x

1= 3 — x =12 One cook 12 hours

4 cooks ————— 3 hours

6 cooks ————— x hours
gzgex:12+6 =2 Six cooks 2 hours

10) Four times a number plus seven is equal to six times a number minus seven.
What is the number?
Number - x 4dx+7 =6x-7

4x-b6x=-7-7

—2x=—14—>x=%—>x=7

The number is 7





